Physics and simulation




4 bench marks

e /H, Z->mu+mu- (Gang)

Iggs -> mu+mu- (Zhenwei, Kaili, Haifeng)
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~10k events each
-1, :94.4%, 90.8% for v1 and v4




CEPC Preliminary CEPC Preliminary
Z— u*'uw, H— anything i Z— u*'uw, H— anything

—4— CEPC Simulation —4— CEPC Simulation
— sig+tail B — sig+tail

—— Signal —— Signal

—— mydecay —— mydecay

S
=
=)
S
S
=)

n
S
=)

Entries/0.40_GeV
wn
=

Entries/0.40_GeV

125 . 130 135 125 . 130 135
M. " [GeV] M. " [GeV]

recoil recoil

With BalYu's model
Resolutions (sigma parameter)
vliv4 = 279 : 324 (MeV), indicates 14% difference




H m a SS Use crystal ball+ bifurcated Gaussian to fit:
Mass shift: 0.16;

Resolution: 10.8%

80% o = 0.23 Crystal Ball

80% o = 0.21 Crystal Ball
+20% g, = 1.5, o = 0.15 bifurcated Gaussian

+20% o; = 1.4, ox = 0.15 bifurcated Gaussian

Z—qq, H—up, 35 Z »aq, H oy, 3

CEPC: = - - CEPC
(Lat=5 ab ', Ys=250GeV : | Lat=5 ab”, 5-250CeV
&9 o ’ | Z-Gq. Hoop
35,1294 - : 3,129.18

: ; o= 0.61

a= 0.556

Higgs Mass: 125.00;

Higgs Mass: 124.84;




Z m a SS Use crystal ball+ bifurcated Gaussian to fit:
Mass shift: 0.27

Resolution: 14.0%

82% o = 0.43 Crystal Ball 89% o = 0.49 Crystal Ball
+18% o, = 0.79, op = 7.99 bifurcated Gaussian  +11% g, = 2, g, = 6.26 bifurcated Gaussian

Z g, H spp, 35 Z—qq, H—py, 3
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Z Mass: 91.56 Z Mass: 91.29




